## NIT No.SPPRA Serial No.33519

Method and procedure of procurement: Open Competitive Bidding (National/ International Competitive Bidding) (Single Stage-One Envelope)

Description of work: REPAIR & REWINDING OF 03 NO ELECTRICAL MOTORS

30 HP & 10 HP OF 45 MGD FILTER PLANT COD HILLS

INCLUDING ELECTRICAL ACCESSORIES

Date of Opening:

07-06-2017

#### BIDDERS' ELIGIBILITY/ QUALIFICATION REPORT

Eligibility/ Qualification Criteria:

		Bidders' Name				
S. No.	Eligibility / Qualification Criteria	M/s.Kashif Engg. Works	M/s.Malik & Co.			
1.	Registration with PEC (if applicable)	N/A	N/A			
2.	NTN	Yes	Yes			
3.	Sales Tax Registration (FBR)	N/A	N/A			
4.	Registration with Sindh Revenue Board (SRB)	Yes	Yes			
	Qualification Criteria:					
5.	Minimum three year experience of relevant field.	Yes	Yes			
6.	Turnover of at least last three years	Yes	Yes			
7.	Required Bid Security is attached.	Yes	Yes			
8.	Bid is signed, named and stamped by the authorized person of the firm along with Authorization letter.	Yes	Yes			
9.	Any other factor deemed to be relevant by the procuring agency subject to provision of Rule-44	N/A	N/A			
10.	Qualified/ disqualified	Qualified	Qualified			

(Jawaid Ali Kamboh) D.A.O (C.O.D)

Member / Secretary

(Saif-ul-Haque) Additional Director Internal Audit - KMC Member

(Magsood Ahmed Shaikh) Superintending Engineer (KMC) Member

(Zahid Jamil Oureshi) S.E (C.O.D)

Member

(Saleem Ahmed)

Director (Design & Estimate)

#### NIT Sr. No. SPPRA Serial No.33519

### Method of Procurement: Single Stage Single Envelope.

Name of Work: REPAIR & REWINDING OF 03 NO ELECTRICAL MOTORS 30

HP & 10 HP OF 45 MGD FILTER PLANT COD HILLS

INCLUDING ELECTRICAL ACCESSORIES

### MINUTES OF BID OPENING MEETING.

A meeting of the procurement committee of this department was held on 07-06-2017 for opening the bids received in respect of subject NIT till deadlines of submission. The meeting was attended by all / following members of the procurement committee and the representative of bidders.

#### (Attendance sheet is enclosed).

- 2. Two bidders submitted their bids till the deadline of submission.
  - M/s. Kashif Engineering Works
  - ii. M/s. Malik & Co.
- The bids were opened at 11:30 A.M in the presence of the above mentioned participants and the rates quoted by bidders were read aloud and encircled by Chairman of the Procurement Committee.

S. No	Name of Firm	Quoted Price	Amount of Bid Security	Pay Order No. / Date
1.	M/s.Kashif Engineering Works	Rs.8,35,825/-	Rs.16,720/-	P.O# 16857809 dt:06-06-2017 from HBL Malir Cantt Branch Karachi.
2.	M/s,Malik & Co.	Rs.9,90,880/-	Rs.20,000/-	B.G # 845/13/2017 dt:06-06-2017 from UBL Model Colony Branch Karachi.

- 4. The bids do not contain any cutting or overwriting.
- 5. The committee shall examine all the bids as per the qualification / eligibility criteria provided in the bidding document and verify the documents and bid security submitted by the bidders (if required).
- 6. The meeting ended with the vote of thanks to and from the chair.

(Jawaid Ali Kamboh) D.A.O (C.O.D)

Member / Secretary

(Saif-ul-Haque)
Additional Director Internal
Audit – KMC Member

(Maqsood Ahmed Shaikh) Superintending Engineer (KMC)

Member

(Zahid Jamil Qureshi)
S.E (C.O.D)

Member

(Saleem Anmed)
Director (Design & Estimate)



# KARACHI WATER & SEWERAGE BOARD

### OFFICE OF THE DIRECTOR (DESIGN & ESTIMATE)

#### BID EVALUATION REPORT

1	Name of Procuring Agency:	KARACHI WATER & SEWERAGE BOARD
2	Tender Reference No:	SPPRA Serial No.33519 I.D No
3	Tender Description/Name of Work/Item:	REPAIR & REWINDING OF 03 NO ELECTRICAL MOTORS 30 HP & 10 HP OF 45 MGD FILTER PLANT COD HILLS INCLUDING ELECTRICAL ACCESSORIES
4	Method of Procurement:	Single Stage (One Envelop)
5	Tender Published:	Through SPPRA Web Site
6	Total Bid Documents Sold:	<u>2 Nos</u>
7	Total Bid Received:	2 Nos
8	Technical Bid Opening Date (if applicable):	<u>N/A</u>
9	No. of Bid Technically Qualified (if applicable)	N/A
10	Bid (s) Rejected:	NIL
11	Financial Bid Opening Date:	07-06-2017

#### 12 BID EVALUATION REPORT

S#	Name of Firm / Bidder	COST OFFERED BY THE BIDDERS	RANKING IN TERMS OF COST	COMPARISO N WITH ESTIMATED COST	REASON FOR ACCEPTANCE / REJECTION	REMARKS
1	M/s.Kashif Engineering Works	Rs.8,35,825/-	1st Lowest	@9.980% Above	P.O and required documents are available. P.O# 16857809 dt:06-06- 2017 Rs.16,720/-from HBL Malir Cantt Branch Karachi.	Substantially Responsive
2	M/s.Malik & Co.	Rs.9,90,880/-	2 <sup>nd</sup> Lowest	@30.382% Above	P.O and required documents are available. B.G # 845/13/2017 dt:06- 06-2017 Rs.20,000/-from UBL Model Colony Branch Karachi.	Substantially Responsive

The all concerned bidders are being informed accordingly.

The E.E Concerned for compliance of Rule-45 of SPPR 2010 M/s.Kashif Engineering Works declared as the lowest responsive bidder by the Committee and recommended for sanction from Competent Authority.

(Jawaid Ali Kamboh) D.A.O (C.O.D)

Member / Secretary

(Saif-ul-Haque)
Additional Director Internal
Audit – KMC Member

(Maqsood Ahmed Shaikh) Superintending Engineer (KMC)

Member

(Zahid Jamil Qureshi)

S.E (C.O.D) Member Director (Design & Estimate)

(Saleem Ahmed

# **COMPARATIVE STATEMENT**

# Name of Work: REPAIR & REWINDING OF 03 NO ELECTRICAL MOTORS 30 HP & 10 HP OF 45 MGD FILTER PLANT COD HILLS INCLUDING ELECTRICAL ACCESSORIES

Item No	Description of Work		I	Estimated C	Cost		M/s.Kashif Engg. Works		M/s.Malik & Co.	
140		Quant	tity	Rate	Per	Amount	Rate	Amount	Rate	Amount
1	P/F new Ball Bearing No.6409 FAG	6.00	Nos	6481.00	Each	38,886.00	7000.00	42,000.00	6400.00	38,400.00
2	P/F new Ball Bearing No.6307 Z SKF	6.00	Nos	1545.00	Each	9,270.00	2000.00	12,000.00	1550.00	9,300.00
3	P/F new Ball Bearing No.6407 Z SKF	6.00	Nos	3703.00	Each	22,218.00	4000.00	24,000.00	3780.00	22,680.00
4	P/L (Main or Submain) PVC sheeted with 4 core copper conduct 600/1000 25mm2	200.00	Mtrs	1909.00	P/Mtr	381,800.00	2000.00	400,000.00	2500.00	500,000.00
5	Providing & Laying (Main or Submain) PVC insulatd with size 3-7.036 copper conductor in 3/4" dia PVC conduit recessed in the wall or columns as required	225.00	Mtrs	279.00	P/Mtr	62,775.00	425.00	95,625.00	800.00	180,000.00
6	P/F 250 watts (SON-T) chowk @ the height with the help of hydraulic crane as per site requirement and insturciton of E/I.	4.00	Nos	3990.00	Each	15,960.00	4000.00	16,000.00	3500.00	14,000.00
7	P/F 250 watts (HPMY) chowk @ the height as per site requirement and instruction of E/I.	15.00	Nos	1735.00	Each	26,025.00	1700.00	25,500.00	1500.00	22,500.00
8	P/F 250 watts (SON-T) Lamp @ the height with the help of hydraulic crane as per site requirement and insturciton of E/I.	20.00	Nos	1240.00	Each	24,800.00	1535.00	30,700.00	1500.00	30,000.00
9	P/F Magnetic contractor FC-50 N as required and as per instruction of E/I.	4.00	Nos	9301.00	Each	37,204.00	10000.00	40,000.00	9000.00	36,000.00
10	P/F Magnetic contractor FC-35 N as required and as per instruction of E/I.	2.00	Nos	7651.00	Each	15,302.00	10000.00	20,000.00	7000.00	14,000.00

A P

T

Wh

15d

Don't

# Name of Work: REPAIR & REWINDING OF 03 NO ELECTRICAL MOTORS 30 HP & 10 HP OF 45 MGD FILTER PLANT COD HILLS INCLUDING ELECTRICAL ACCESSORIES

Item No	Description of Work	Estimated Cost					M/s.Kashif Engg. Works		M/s.Malik & Co.	
140		Quan	tity	Rate	Per	Amount	Rate	Amount	Rate	Amount
	Rewinding of electric motor 3 Phase 440/440 volts 50 cycles with best quality insulated copper wire of required gauge including testing on load with satisfactory result upto one weeks time opening and refitting and replacing bolts if necessary excluding the cost of worn out material. 10 HP	1.00	No	10141.00	Each	10,141.00	10000.00	10,000.00	10000.00	10,000.00
	30 HP	3.00	Nos	29272.00	Each	87,816.00	30000.00	90,000.00	29000.00	87,000.00
12	P/F Circuit breaker 15-20-30-40-50-60-75 and 100 amp TP (XS-100S) on prepared board as required.	3.00	Nos	9261.00	Each	27,783.00	10000.00	30,000.00	9000.00	27,000.00
	TOTAL QUOTED / CORRECTED COST	(550), (54.04)	1,00000000			759,980		835,825		990,880

(Jawed Ali Kambo) D.A.O (P.P.D)

Member / Secretary

(Saif-ul-Haque) dditional Director Internal Audit – KMC Member (Maqsood Ahmed Shaikh) Superintending Engineer (KMC)

Member

(Zahim Jamil Qureshi

S.E (C.O.D) Member (Saleem Ahmed)

Director (Design & Estimate)

# **ATTENDANCE REPORT**

NAME OF WORK: RePair & A Rewindi	ing obos No
Electrical Motors 30 H.P 8 10 F	t.P0/45
MGD Filter Plant COD Hill	18 includio
Electrical Accessories	
DATE OF OPENING 07-06-2017	

The following competitor have participated in the competition of the subjected work:-

SR.	NAME OF CONTRACTOR	SINGATURE
NO		
1	Malik & Co	A550_
2	Kashif Engg works	7
3		
4		
5		
6		